The in-class part of the Final Exam is scheduled as follows:
Thursday, May 7" at 10:15 a.m. in Walker 222.

The best way to study for the in class part of the final is to do the following
1. Study new material Section 8.1, 8.2, 8.3, 8.5, 8.7, 8.8, 8.10, 8.12, 8.13
Note the final will have a heavier emphasis on the new material.
2. Study Test 1 and Test 2.
In particular, know how to encrypt and decrypt messages using
shift cipher, affine ciphers, the Vigenere cipher, and how
to break a Vigenere cipher using signatures and scrawls.

Take Home Part: D2L RSA Discussion (Worth 10 points)
Due by 5:00 p.m., Thursday, May 7'

Good Questions to Study from Old Tests: Test 1: #4,5, 6
Test2#1,5,6,7,8, 11.
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